



PAGE	CUST NO	INVOICE DATE
1 of 1	1507589	05/10/2012

INVOICE NUMBER

1718 - 90901709

Pratt

(620) 672-1201

B HERMAN L LOEB LLC

I PO Box: 838

LAWRENCEVILLE

IL US 62439

o ATTN:

ACCOUNTS PAYABLE

LEASE NAME

Canton C 3-20

LOCATION

COUNTY

Kiowa

STATE

KS

JOB DESCRIPTION Cement-New Well Casing/Pi

JOB CONTACT

JOB #	EQUIPMENT #	PURCHASE	ORDER NO.	-	TE	RMS	DUE DATE		
40462160	20920	مره د به دست زیر تش <mark>شینی</mark> س برخل			Net -	30 days	06/09,	/2012	
	.1		QTY	U of	UNIT	PRICE	INVOICE	AMOUNT	
For Service Dates	s: 05/09/2012 to 0	5/09/2012		М					
0040462160									
171806404A Ceme -Cement 5 1/2"-Long	ent-New Well Casing/Pi (gstring 💥 😀	05/09/2012						•	
50/50 POZ	TALL	No. 314 38	250.00	EA .	., ,	* ** ** ** 8.80		2,199.91	
Celloflake	ŀ	ZAII) I	63.00			2.96		186.47	
Gypsum	,	29875	1,050.00			0.60		629.97	
FLA-322	•		105.00	EA		6.00		629.97	
Gilsonite	M	AY 1 7 2012	1,500.00	EA		0.54		803.97	
Mud Flush			1,000.00	EA		0.69		687.97	
KCL Potassium Chlo	oride S(ANNED	566.00	EA		1.20		679.	
Claymax KCL Subst	atute	,,	6.00	EΑ		28.00	ĺ	167.99	
"5 1/2"" Port Collar			1.00			2,799.89		2,799.8	
U	& Baffle, 5 1/2"" (Blu		1.00			319.99		319.9	
"Auto Fill Float Sho			1.00			287.99		287.9	
"Turbolizer, 5 1/2""			14.00			88.00		1,231.9	
"5 1/2"" Basket (Bl	· · · · · · · · · · · · · · · · · · ·		2.00			231.99		463.9 359.9	
"Unit Mileage Chg (s Cable Type, 5 1/2"," =	ی که بشده دید بیک مسجوری	6.00 <u> </u>	*	ا يه بيمي ا	3.40	ge Canada de C	152.9	
Heavy Equipment M			90.00			5.60		503.9	
	el. Chgs., per ton mil		473.00			1.28		605.4	
Depth Charge; 500			1.00			2,303.91		2,303.9	
Blending & Mixing S			250.00			1.12		279.9	
Plug Container Util.	•		1.00	EA		199.99		199.9	
"Service Supervisor	, first 8 hrs on loc.		1,00	EA		139.99		139.9	
						-			
, to									
DI DAGD DESCRIP	mo.	MD OTHER CORPE	DONDENCE M	·. ·				; '	
PLEASE REMIT		IND OTHER CORRES		J:	SUB TO	TAL	15	5,635.4	
BASIC ENERGY		ASIC ENERGY SERV	ICES, LP			TAX		387.3	
PO BOX 84190		DEOX 10460 DLAND,TX 79702		INV			16		



10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201

FIELD SERVICE TICKET 1718 **06404** A

	PRESSU	RE PUMPI	NG & WIRELINE					DATE	TICKET N	10				
DATE OF 5-9	STRICT Prull	NEW DO OLD PROD INJ WDW CUSTOMER WELL WELL PROD INJ WDW ORDER NO.:												
CUSTOMER 🖟	lern	nan L	LOEB			LEASE CANTON C 3.20 WELL NO.								
ADDRESS						COUNTY KIOWY STATE 155								
CITY			STATE			SERVICE CREW Wright Phyle Syllivan Melson								
AUTHORIZED B	Υ					JOB TYPE: 4	nw	5/2 65						
EQUIPMENT		HRS	EQUIPMENT#	HRS	EQI	JIPMENT#	HRS	TRUCK CALL	.ED	DAT 5'9	E AM II	IME		
19959 209		1 pc		_				ARRIVED AT	JOB	5.9				
19960 1991	8	111		 		· · · · · · · · · · · · · · · · · · ·	<u> </u>	START OPER	RATION	5.9		>0		
37900			- .	-				FINISH OPER	RATION	5-9		30		
							1	RELEASED		5-9				
			· .	 			TO WELL	FIN 7						
become a part of the	nis contra	ct without 1	f and only those terms and he written consent of an of	icer of Basic Er	nergy Se	ervices LP.		GIGNED:	1	FOR, CONT	PACTOR OR A	AGENT)		
REF. NO.	1-01			AND SERVIC		ED			UNIT	PAICE				
CP 104	50/		202		•		5/5	200-			2,200			
CP 104	50/		20 <u>2</u>				5/5	50			550 233			
ci 102		Lofl. Sym	4n <				1h	63			787	10		
CL 129		- 32	<u> </u>				16	1050			 	50		
CL 201	63	son it					Jb	1500			-11:00	50		
< 700	KL		Tassium /h	intial e			10	566			849	100		
CF 481	5%		T Collar	<i>()</i>			24	1			3) 500			
CF 607	101	h Pa	un Plua				24	<u> </u>			140	,		
	AuT	n Fil	I Flogi shoe				09	j			1176			
(F 125) (F 165)	Tur	poli z					e4	14				1000		
(F 1901	5/2	Bask	sets				24	2			1. 5%			
(F 2001	Scr	y Tche	r5				24	6			210	000		
C 704	LL	av ma	χ				94	6 -			210	00		
CL 151	My	1 FLU	54				GUL	1000			860	00		
							+					+		
							+					+		
СНЕ	EMICAL /	AÇID DAT	A:							B TOTAL				
					SEI	RVICE & EQUIF	PMENT	%ТАХ	ON \$					
			<u></u>		MA	TERIALS		%TAX	ON \$					
			-						-	TOTAL				
											1			

THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND RECEIVED BY

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)

SERVICE REPRESENTATIVE

SERVICE



10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201



FIELD SERVICE TICKET

1718 06405 A

DATE OF 5-9	/2 DIS	STRICT Prail	NEW 7	OLD F	ROD INJ	□ WDW	□ Ci	USTOMER RDER NO.:						
CUSTOMER H	· · · · · · · · · · · · · · · · · · ·				LEASE & an Ton C 3-20 WELL NO.									
ADDRESS					COUNTY STATE									
CITY		STATE			SERVICE CREW									
AUTHORIZED BY	· · · · · · · · · · · · · · · · · · ·		JOB TYPE:				***							
EQUIPMENT		EQUIPMENT#	JIPMENT#	HRS	TRUCK CALL	.ED	DAT	E AM PM	TIME					
							ARRIVED AT	JOB		AM PM				
							START OPE	RATION		AM PM				
							FINISH OPE	RATION		AM PM				
,							RELEASED PM							
						1	MILES FROM	STATION TO	WELL	.				
ITEM/PRICE :/ REF. NO.	МА	TERIAL, EQUIPMENT	AND SERVICE	ES US	ED .	UNIT	(WELL OWN!	ER, OPERATOR, UNIT PRIC		RACTOR OF				
E 100	PICKUP M	rilegge	•			mi	45			19.1	25			
F 101 E 113	Heavy m	il euge				mi	90	٠		63	00			
		elivery				tm	473	• "		75				
(E 206	····	urge '				415	2.20	 	ļ	288				
CE 240	MIXING C	harge				SK	250		<u> </u>	<i>35</i>				
(E 504 5 003	5 uPervi	Tainer				24				17	50 ao			
3 00)	<u> </u>	<i>501</i> ************************************				= 9	-			17	<u>, ao</u>			
		y gy serv	* " · v		•	.,			\vdash	•				
·									<u> </u>		·			
	•						A-Mari A				-			
							- ±2 ^{7,0}	<u>.e</u>	-					
								•			+			
-														
	· · · · · ·		-											
CHE	MICAL / ACID DATA	λ:	Ī .						TAL	15 635	48			
			-		RVICE & EQUI	PMENŢ		CON\$						
] .	LMA	TERIALS		%TA)	CON\$	TAI					
<u> </u>		,	J					10	TAL	ļ				

SERVICE AND MAN REPRESENTATIVE AND MAN AND MAN

THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND RECEIVED BY:

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)



TREATMENT REPORT

01101	8 7 ~ ~	•		·	• •		•										
Customer H	ermyn L		ve F	•	Leas	e No.				•		Date	سز ـ	3 m	17		
Lease (a)	n TAN	_			Well # 3: 20							5-9-2012					
Field Order #	Station	PI	alt					Casing	1/2		5142	County	14	Siow		State /5 5	
Type Job	<nw< td=""><td>5/2</td><td>LS</td><td></td><td></td><td></td><td></td><td></td><td></td><td>Formation</td><td>TO</td><td></td><td></td><td>Legal [</td><td>Description</td><td>10-30-17</td></nw<>	5/2	LS							Formation	TO			Legal [Description	10-30-17	
PIPE DATA PERFORATIN						ATA		FLUID	US	ED	TI	TREATMENT RESUME					
Casing Size	ing Size Tubing Size Shots/Ft					Acid				<u> </u>	RATE PRESS			ISIP			
Depth 5/42	Depth		From	1	То		Pre Pad							5 Min.			
Volume, 21	_ Volume_	rom From			To	Pad								10 Min.			
Max Press 2000	Max Pres	S	From		То		Frac	;			Avg				15 Min.		
	ion Annulus \	/ot.	From		То						HHP Used				Annulus	•	
Plug Depth 5/0	Packer D	epth .	From		То		Flus				Gas Volu				Total Loa		
Customer Re	presentative	60	0194	Pay	ne :	Station	Mana	ager <i>D</i> .	54	OTI		Treate	er J	oen	101500	1	
Service Units	37900			1995	9 2	097	0/	19960	\angle	9918							
Driver Names .	Sullison	me	0/522)	ω	2166	/_		Phy	-						,		
Time	Casing Pressure		ubing essure	Bbls.	Pumpe	<u> </u>	ı	Rate	Service Log								
4. Pm	4. Pm								unloc Safrey meeting								
	-				hun 121					21 57	JTS 5/2 15.5 16 PIPE						
						\perp			1	ur BO	1, 4, 5	,6,8	, 9	<u>,11,</u>	13,20	, 22	
		_				\perp			\neg		, 42					•	
					,	\perp			Busk 12;39								
		<u> </u>			•				Port Collar on TOP of Joint 39 632								
						_						with Big 1/2 way					
	<u> </u>	<u> </u>				4			-			with	2 /	19 7	14 way		
10200		ļ	•	24			4		Mud Flysh								
	l	_		5					1/20 SPACET								
				3	9 7					PLyg Bai HOLP 305K							
					5	_	4	PLUG MOUSE HOLF 20									
•		_		4	ξ	_	5		CLEGR PUMP and Line / Prop Plug							01	
		<u> </u>		<u> </u>	-	_	2		+				Lj	ne 1	Prop	TLUG	
<u> [</u> [<u> </u>	_			•••	_	5.5									·	
	90 5.5					List Pressure SLOW Rate											
1.30				110			4		+	540W	Mate			•			
11.70		ļ		121		+	-	₹.	+	1 ⁷ L 49	DOW	n					
•	•	_				+		•	+	~~ ~	<i>C</i> A : 4	010+0					
		-			·	+			+	J012	com 1	rete	1				
*		_	· <u>-</u>			\dashv			+-	Ingi	n 13 yı	DV.					
		l		1] -	٠		1						<u> </u>		